Unit 8: Problem Set 4
1) 2 Al2O3 (s) ( 4 Al (s) + 3 O2 (g)  



∆H = 3352 kJ

a. What is the heat change for the formation of 1.000 mole of Aluminum Oxide from its elements?

b. Is this reaction exothermic or endothermic?  What side of the equation should the heat be placed on?

2) NaOH (s) ( Na+(aq) + OH-(aq) 



∆H = -445.1 kJ/mole

a. How much heat is released when 7.3 grams of NaOH is dissolved in water?

3) NH4NO3 (s) ( NH4+(aq) + NO3- (aq)  


∆H = 25.7 kJ/mole

a. How many moles of NH4NO3 (s) must be dissolved in water so that 103 kJ of heat is released from the water?

4) 2 NaHCO3 (s) ( Na2CO3 (s) + H2O(g) + CO2(g)  

∆H = 129 kJ

a. Calculate the kilojoules of heat required to decompose 5.7 moles of NaHCO3 (s).

5) C2H5OH (l) + 3 O2(g) ( 2 CO2(g) + 3 H2O(l) 

 ∆H = -1386 kJ

a. How much heat is released when 4.7 grams of C2H5OH is combusted?

